PIRANHA OFFROAD PRODUCTS P/N BT80PO

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

To Suit LANDCRUISER 80 SERIES
N | APPROVED
FOR SELF HIT

3F PETROL (Carby)

- . g .
| ST

c( a6l
R

IPARTS INCLUDED WITH TRAYI FITTING INSTRUCTIONS

1 X Tray The cradle fits passenger side front.

1 X M6 Bolt (Countersunk) | This tray can be used as an OEM replacement tray for the starting
1 X M6 Hex Bolt battery in some versions of the 80 series

1 X M6 Nut

1 X M6 Body Washer The tray arm bolts to the inner fender using a 6mm bolt and the 2 x
2 X M8 Bolt Long lower mounts bolt to existing threaded holes using 8mm bolts.

1 X Universal Top Mount _ . '

2 X J Bolts Once bolts are tight, drill the hole in the corner of the tray closest to

the washer bottle. Secure with 6mm countersunk bolt and nut with a
body washer on the underside of the guard.

Ensure, before closing the bonnet that all items fitted have
adequate clearance

l RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX oct 2017

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BT80PO




